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IB1 = 10 !A

IB2 = 20 !A

IB3 = 30 !A

IB4 = 40 !A

IB5 = 50 !A

IB6 = 60 !A

IB7 = 70 !A

IB8 = 80 !A

VCE(V)

IB0 = 0 !A
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VCE = 20 ; IC = 0 A 

IC = 9,1 mA

VCE = 0

IC = 3,2 mA

VCE = 13 V

Punt de treball Q per IB5 = 30 !A

VCE = 13 V i IC = 3,2 mA
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VBB = 4 V

VCC = 20 V
RB=110.000 !

RC = 2.200 !

IB = 30!A

IE 

IC= 3,2 mA 

npn

Comprovem les dades per la malla VCC, RCC, VCE 

Punt de treball Q per IB5 = 30 !A    VCE = 13 V i IC = 3,2 mA

VCC =RC·IC + VCE 20 = 2200 · 0,0032 + 13

VRC = 7,04 V

VCE =13 V
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Potència que ha de dissipar el transistor
Punt de treball Q per IB5 = 30 !A    VCE = 13 V i IC = 3,2 mA

P = VCE · IC
P = 13 · 0,0032 = 0,04160 W = 41,6 mW

P " Pmàx 
41,6 mW " 100 mW
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IE = 0,0032 + 0,00003 = 0,00323 A = 3,23 mA

  IC + IB = IE


